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: (Arduino 1.6) 4.b o

#include <LiquidCrystal.h>
LiquidCrystal lcd (12, 11, 5, 4, 3, 2);
1] 58inlos Sy S

int var ;

I ssio oy

void setup () {
lcd.begin(le, 2);

}

void loop () {

var = analogRead (0);
I15393,] AQ ey 51 SelUT lase wslg>
lcd.setCursor (0, 0);
led.print ("var=");
Sl S, var= gio Giwlos
lcd.setCursor (5, 0);
lcd.print (var);

I Dbz Hlase Giules

delay (100);

lcd.clear();
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: (Arduino 1.6) 4. .

#include <LiquidCrystal.h>
LiquidCrystal lcd(1l2, 11, 5, 4, 3, 2);
I Ssinglos SaisySy

float var ;

I s,bicl pusx 5l o s
void setup () {
lcd.begin (16, 2);

}
void loop () |
var = analogRead(0);
J1]]Ivar yusin 5> Ol iz, 9 Sl Hlase wilgs
var = var/204.6;
/////.\JLAJ Cowd QJQ o> ) )Ug G 204.6 >ac » var jusio u>,S J SUWT5)
lcd.setCursor (0, 0);
led.print ("Volt:");
I o Gianlos
lcd.setCursor (6, 0);
lcd.print (var);
11111 36s iwles
lcd.setCursor (10, 0);
led.print ("V");
I o Ginlos
delay (100);
lcd.clear();}





